ZHEORE. K8 RUFE

EIRZZEANFBINREZR EEBE 4 &

=

FINESNHEZE1E1S

BEALICRDBFBROLR(THE)

(PEMERVZLEDHD — 11F, DZHIDTF EMBZEHESNIEETNLHE=HARLEVLD, )

&R

LHDEFADES

— B AL -FERBEEAL

I$o)% ﬁ‘s t’%ﬁﬁ~ gﬂFEﬁ&U*EEIJ ﬁLfZE Xli% %&613:_,3& 0)i';'||] (ff:ﬁ‘%ﬁﬁﬁ@%ﬁﬁ) %E1ﬁ*§ %%“Jﬁgﬁ %*L% ﬁ% %
(=) () (%)
%Eﬁ)ﬁﬁ%%ﬁ%%gmi$ _ ;Bﬂg@i’ff) "
JNEARBEB=AKRETKFitF1750%F 1 -t REB1T | jnes A ST
TH24E 45 40 ~F 2643831 B H2443 |g5& 18 RS A AL (K& ETE) 3,133,515,000| 3,066,000,000 98
BZgErs —H
(BER) ARENETOMISE i
ud = RABESRIE )
FIEABB=ABIKRFtFE1750FHh1 e - _ gpas > OS]
TH24%E 45108 ~EH264E3H31 B H24.4.9 %g&_jﬁ;ﬂ;z{%%%nw W AL (K& 500D 899,745,000| 724,500,000 81
BRIE —A
%Eﬁ)ﬁﬁ%%ﬁ%%gmi$ -~ 9“45;/-5%217};@
JINEAREE= KRBT A ME 17505 H# 1 BRTIEHER _gnas -
TH24E 45 40 ~F 2643831 B H24.4.3 KIRHER TR T RRRR S A KL (2 & 5T4) 1,301,895,000| 1,299,900,000 99
EIE —= B9%255
ﬂgiﬁwﬁlﬁ‘%fw-*?#;*z%ﬂi%%&%ﬂyéa . "
T DU_X( ) _pnEx 1] 4 O ST
FESNTEAR304FH H24.4.26 | KRR FF AR 1 AR R X WAL (BRREES 45,738,000 45,675,000 99
TRR24%F 48278 ~TFHK255%E38298 BAE2TH1E6S f)
B2gErsE —H
(BER) HEIGEFELIS (€ B # ¥ 14
=] = sl B = #/\
E&Zﬁfﬁ“gﬁk fﬁzfg ; ;210 Eg BT Haass ﬁggﬁ'@ﬂﬁﬁﬁjh — MR AR 14,238,000 12,285,000 86
TRITE —=HK
(*iﬂﬁa) HEEEFEMRIUETIE 2%) :*ZIXEEQ*
=\ — = 4\
;&;Z%;ﬁfglﬁﬁﬁg omaiE | H24622 ;‘Tg';“_'z*“ﬁamt — BB ARL 14059,500| 13,440,000 96
B2gErE —H
%#m)?%iﬁﬁﬁa&%ﬁ%&ﬁ:c% %ﬁ)ﬁ%a&ﬁ@ﬁ% @
“ll;%é-ﬁ ET1_1 “II;IE< E% % mT [N
TRi24%E 6 A28 ~ T4 9A218 | "2407 kg1 76—2 WP AR, 13,293,000/ 11,235,000 8

ETE —H




EFHNEEEILA—4ARETSE
FNERKBE=AKETKFHFE1750%FH1

BEILAR—E (%)

TRo4% 75 30 ~T 2412821 B H24.72 |REHBENRILSN | —REHF AL 16,264,500| 15,750,000 97
MEBERETE — 6-5-27
gi&ﬂ%ﬁ%ﬁﬁfﬂi%ﬁ%ﬁﬂﬁkaﬁﬁgf %)1«49‘(:,*%**
NEARBERB=AITKEHF 17501 JIE ST ARET  nas
TH24% 15 60 ~ T 244 0F 280 H24.7.5 2582%1’?@1 RERRE A AL 21,672,000/ 20,160,000 93
BkTE —=
HEPEMBIRE /NP S E s B () S ATA DR
SETH F)I| B4 R ERTAT
FNERETXRE2T 4% 25 H24.7.19 %‘599%&11 ¥ — R AL 16,548,000 9,922,500 60
Frf244F 75208 ~FERK24410831H -
BETE —K
%%ﬁ%féiéﬁgiﬁﬁﬂyﬂl$ g#?ﬁﬁ% *(,ﬁﬁ;*k
JNESHWHE fT280 JIRSH RET1 | pnss
$EJ?.24E 7B 258 ~ T 245118168 H24.7.24 |25083—m18 R AL 24,454,500| 23,415,000 96
EIE —=R
EFEHT_AI—EEITE n -

— =k = E‘é‘“”$§ﬁﬁﬁ§(ﬁ) AR 1] 94> O S
E&ﬁﬁfg&;ﬁ%@f;;;ﬁg?ﬁ H248.1 R ESKAT ﬁ)"“”"%k*l'(%%ﬁ”“‘@“ 49,528500| 46,399,500 94
TATE —= ®1-4-21
§%§%$¥§§2_§I$ gu%ﬁliﬁg

NESWHESHET280 INENEEBEERT | pae
R4 88 3B ~FH24%11H16H H24.8.2 | | b 1484 R AL 24,811,500] 19,404,000 78
BRIE —=
ﬁiigﬂﬁﬁ%ffﬁ:ﬁ?&&%ﬁ%&{%% N
DT E&.—// __fnEE 1] 40> O ST
FNESWTHEAR304%H H24.9.7 ?efgi'ﬁmﬁﬂ*m“ m)""“%k*"(%%ﬂ”“‘@“ 272,160,000| 270,900,000 99
R4 9A10E ~F /25538150
BETE —K
ﬁi%ﬁﬂﬁﬁ‘%%ﬁdﬂ—%&&%ﬁ%%@% —
0) ::E\.EQ HI LLI DS ( ) [N 1] 9 O ST
%EJIILER%*’L}FHE%BmM%fm i H2496 |&IESHHMERS mf}’”‘f‘%)\“‘(%%gﬁ‘@" 59,304,000| 58,485,000 99
TRi24% 98 TA~FE25438158 45%th1
BRIE —=
HEPHHESRTERRERERIEF )
DR BT = BAXVITTI/ )| _ BaE s A AL (H 5 A A 5
FNESWHERIT04EH it H249.11 |EREHEERMEE2— m)"“‘” slceke = E 74,907,000( 71,085,000 95
ERR24% 9512E|~$;3‘z25¢3ﬁ15E| 10—8

EITE —=K




(BER) ERERH (ERARRM TE

B RABI= AR KFHF 17508 H 1 BRERO -
R4 9B 27 ~FH2543H20H H24.9.26 E_T"jgigq}?g%ﬁamw R E AfL 25,809,000( 25,620,000 99
EIE —= =
EHILSSERETE
= (B)FRIHE . s

FNREHEET1—1 i — RS AL (RERET
TH24E108 178 ~F 254 38226 H24.10.16 iélﬁ.a&ﬁﬁ*m i) 79,369,500| 65,782,500 83
BEITE -
imiﬁt&?ﬁfﬁaﬂéﬂ%@éﬁéﬁﬁl$ BIST 2 (1)
&R SRR 1—1 “ ; —pas
TH24F 108 128 ~FR25% 35220 H24.10.11 ?Jﬁllfﬁ&gﬂﬁi%ém R E ARl 12,694,500 12,390,000 98
BRIE —H
gwjgsv:q\ﬁfﬁaﬂéﬁﬁk%%ﬁ:t% %ﬁ)};Azu;Ib;.J%]

NREiT==RT1—1 NIR ST BT | anas
T4 108 198 ~ T 254 35220 H24.1018 | 0 ™ s AL 21,325,500 13,629,000 64
ETE —H
§m§4iﬁﬁ$%§ﬂﬁ7k%0)maﬂz1@1$ Zﬁ)bz{j(ﬁﬁ%
EIESH BT1—1 A E=T=X N BT _ pnaEx
3Fi3?.24g11ﬁ B ~FH25E 28150 H24.10.31 2582%?’"’&1 e AL 9,820,650 9,576,000 98

hkTE —=HK




